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] 100kN/MZ#8% % — -~ — —|(3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mERBZB -~ — — —
ThES 1.00 | 000 ~ 474 59.10 | #hlist | 000 ~ 0.00 | 1.66 8.41 zhst 1.00| 500 ~ 5.00 59.10 | #hLi4t | 500 ~ 500 | 1.66 8.41
) 100kN/mMZ#8% % — -~ — —|(3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mERBZB -~ — — —
ThES 1.00 | 000 ~ 7.39 9426 | #hlist | 000 ~ 7.39 | 1.83 9.23 zhst 1.00| 500 ~ 965 9426 | #h it | 500 ~ 965 1.83 9.23
3 100kN/m%#8%%| 1.00| 000 ~ 0.71 11051 [3mZE#Z% -~ - - —| 100kN/m%#B%%| 1.00 [10.68 ~ 12.68 11051 [3mZE# x5 - ~ - - -
ZThLS 1.00 | 0.71 ~ 849 10000 | #hklst | 000 ~ 8.49 | 2.28 11.50 zhst 1.00 | 500 ~ 10.68 100.00 | #hList | 5.00 ~ 12.68 | 2.28 11.50
4 100kN/m#%#8%%| 1.00| 000 ~ 1.13 116.97 [3mZE# x5 -~ - - —| 100kN/m%#8%%| 1.00 [11.40 ~ 16.08 116.97 [3mZE# x5 - ~ - - -
ZThLS 1.00| 113 ~ 891 10000 | #hkist | 000 ~ 891 | 2.18 11.02 zhst 1.00 | 500 ~ 11.40 100.00 | #hList | 5.00 ~ 16.08 | 2.18 11.02
5 100kN/m%#8%%| 1.00| 000 ~ 1.11 116.73 [3mZE# x5 -~ - - —| 100kN/mM%#B% 5| 1.00 [11.24 ~ 1564 116.73 [3mZE# x5 - ~ - - -
ZThLS 1.00| 1.11 ~ 890 100.00 | #hkist | 000 ~ 890 | 2.20 11.10 zhst 1.00 | 500 ~ 11.24 100.00 | #hLlst | 5.00 ~ 15.64 | 2.20 11.10
6 100kN/m%#8%%| 1.00| 000 ~ 1.11 116.71 [3mZE# x5 -~ - - —| 100kN/mM%#B% 5| 1.00 [12.04 ~ 1750 116.71 [3mZE# x5 - ~ - - -
ZThLS 1.00| 1.11 ~ 889 10000 | #hkist | 000 ~ 889 | 2.13 10.77 zhst 1.00 | 500 ~ 12.04 100.00 | #hList | 500 ~ 1750 | 2.13 10.77
. 100kN/m#%#8%%| 1.00| 000 ~ 1.08 116.23 [3mZE# x5 -~ - - —| 100kN/m%#B% 5| 1.00 [12.67 ~ 18.93 116.23 [3mZE# x5 - ~ - - -
ZThLS 1.00| 1.08 ~ 886 100.00 | #hList | 000 ~ 886 | 2.10 10.60 zhst 1.00 | 500 ~ 1267 100.00 | #hLlst | 500 ~ 18.93 | 2.10 10.60
8 100kN/m#%#8%%| 1.00| 000 ~ 0.85 112.69 [3mZE# x5 -~ - - —| 100kN/mM%#B% 5| 1.00 [12.67 ~ 17.13 112.69 [3mZE# x5 - ~ - - -
ThLS 1.00| 085 ~ 863 100.00 | #hkist | 000 ~ 863 | 2.10 10.60 zhst 1.00 | 500 ~ 1267 100.00 | #hkist | 500 ~ 17.13 | 2.10 10.60
9 100kN/m#%#8%%| 1.00| 000 ~ 1.13 116.99 [3mZE#x % -~ - - —| 100kN/m%#8% 5| 1.00 [10.54 ~ 14.00 116.99 [3mZE# x5 - ~ - - -
ThLSH 1.00| 113 ~ 891 100.00 | #hkist | 000 ~ 891 | 2.21 11.16 zhst 1.00 | 500 ~ 10.54 100.00 | #hLlst | 5.00 ~ 1400 | 2.21 11.16
10 100kN/m#%#8%%| 1.00| 000 ~ 1.08 116.30 [3mZ#x % -~ - - —| 100kN/m%#B% 5| 1.00 [1059 ~ 14.07 116.30 [3mZE# x5 - ~ - - -
ThLS 100 | 1.08 ~ 887 10000 | #hkist | 000 ~ 887 | 2.13 10.78 zhst 1.00 | 500 ~ 10.59 100.00 | #hList | 5.00 ~ 1407 | 2.13 10.78
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#BZ % ~ ImERZS ~
ThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/mMZ#8% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/mMZ#8% % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
ThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/MZ#8% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ThLS ~ ZhLst ~ zhst ~ ZhLst ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
TS ~ Zh st ~ Zh st ~ Zh st ~
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